

Resolution for Maintenance Under the Illinois Highway Code



		Resolution Number	Resolution Type	Section Number
		28-19	Original	19-00000-00-GM
BE IT RESOLVED, by thePr	Governing Body Type Illinoi:		the Villa Local Public A	ge of gency Type
Name of Local Public Ag	occurre.	,		140,000,70
Three Hundred Fourty Six Thou				346,060.70)
of Motor Fuel Tax funds for the purpos	e of maintaining streets an	d highways under the a	applicable provisions of	Illinois Highway Code from
	O tte			
BE IT FURTHER RESOLVED, that on including supplemental or revised estir funds during the period as specified at	nates approved in connecti			
BE IT FURTHER RESOLVED, that	Village	of	Chatha	m
shall submit within three months after available from the Department, a certif expenditure by the Department under	he end of the maintenance ed statement showing exp	period as stated abov	e, to the Department of	Transportation, on forms
BE IT FURTHER RESOLVED, that the of the Department of Transportation.	Clerk is hereby directed to	transmit four (4) ceriti	fied originals of this reso	olution to the district office
I Amy Dahlkamp Name of Clerk	Local Po	Village Cublic Agency Type	lerk in and for said	Village Local Public Agency Type
of Chathan Name of Local Publ		in the State of Illinois,	and keeper of the recor	ds and files thereof, as
provided by statute, do hereby certify t	he foregoing to be a true, p	erfect and complete co	opy of a resolution adop	ted by the
President and Board of Truste Governing Body Type	es of Name	Chatham of Local Public Agency	at a meetin	g held on05/14/19
IN TESTIMONY WHEREOF, I have he	reunto set my hand and se	eal this 14 day Day	of May,	2019 Year
(SEAL)		Clerk Signature	ny Darlkar	ryp
			APPROVED	
		Regional Engineer Department of Trans	sportation	Date



Local Public Agency General Maintenance



Estimate of Maintenance Costs

Submittal T	pe Original
-------------	-------------

Maintenance Period

 Local Public Agency
 County
 Section Number
 Beginning
 Ending

 Village of Chatham
 Sangamon
 19-00000-00-GM
 05/01/19
 04/30/20

Maintenance Items

				wamtena	T T			
Maintenance Operation	Maint Eng Category	Insp. Req.	Material Categories/ Point of Delivery or Work Performed by an Outside Contractor	Unit	Quantity	Unit Cost	Cost	Total Maintenance Operation Cost
Sidewalk and Curbs	IIA	No	Concrete	CY	120	\$110.00	\$13,200.00	\$19,850.00
Cuibs			Public Labor	\$	1	\$5,000.00	\$5,000.00	
			Public Equipment	\$	1	\$1,650.00	\$1,650.00	
2. Bituminous Patching	IIA	No	Aggregate	Ton	100	\$10.00	\$1,000.00	\$24,750.00
J			Pre-Mix	Ton	50	\$155.00	\$7,750.00	
			Public Labor	\$	1	\$8,000.00	\$8,000.00	
			Public Equipment	\$	1	\$8,000.00	\$8,000.00	
3. Winter Maintenance (Salt acquired through state contract)	Maintenance (Salt acquired through	No	Road Salt (Joint Purchase)	Ton	250	\$67.00	\$16,750.00	\$33,375.00
			Public Labor	\$	1	\$8,000.00	\$8,000.00	
			Public Equipment	\$	1	\$8,625.00	\$8,625.00	
4. Roadside Maintenance	IIA	No	Aggregate	Ton	595	\$25.00	\$14,875.00	\$24,875.00
			Public Labor	\$	1	\$5,000.00	\$5,000.00	
			Public Equipment	\$	1	\$5,000.00	\$5,000.00	
5. Street Sweeping	IIA	No	Public Labor	\$	1	\$2,625.00	\$2,625.00	\$10,125.00
			Public Equipment	\$	1	\$7,500.00	\$7,500.00	70000000
C Traffic Control		Na	Troffic Ciona (Variana)	Foob	40		\$2,000,00	
Traffic Control Devices	IIA	No	Traffic Signs (Various)	Each		\$75.00	\$3,000.00	\$4,625.00
			Sign Posts (Various) / Acc	Each	15	\$55.00	\$825.00	
			Public Labor	\$	1	\$500.00	\$500.00	
			Public Equipment	\$	1	\$300.00	\$300.00	
7. Seal Coat (Joint Purchase) (Bit. Matls. Comp. Bid by Chatham Township)	IIA	No	Bituminous Materials HFRS-2 (0.32 Gal/SY) Deliver and Install	Gal	10,080	\$1.75	\$17,640.00	\$25,335.00
(Seal Coat Agg. Comp. Bid by Sangamon County)			Seal Coat Aggregate (Air Cooled Blast Furn. Slag) CA-13 (18 Lbs/SY) Deliver and Install	Ton	285	\$27.00	\$7,695.00	
8. Pavement Marking	IIA	No	Pavement Marking	Foot	1,000	\$1.50	\$1,500.00	\$1,500.00
9. Crack Sealing	IIA	No	Crack Sealing	\$	1 1	\$5,000.00	\$5,000.00	\$5,000.00
						,	y - 100 - 100 (100 to 100 to 1	

Estimate of Maintenance Costs

Original

Submittal Type	Original

Local Public Agency			County Section		Section			Ending			
Village of Chatham		Sangamon		19-0000	19-00000-00-GM		05/01/19		04/30/20		
10. Grading and Shaping Ditches	IIA	No	Seeding / N	Mulch	Acre	1.5	\$3,	\$3,000.00		500.00	\$24,500.00
1 0			Public Labo	or	\$	1	\$10	000.00	\$10,0	00.00	
			Public Equi	pment	\$	1	\$10,	00.00	\$10,0	00.00	
11. PCC Patching	IIA	No	Aggregate		Ton	160		•	\$2.4	400.00	*******
(Material Only)	N 00.50							\$15.00			\$24,900.00
			PCC		CY	150	\$	150.00	\$22,5	500.00	
12. Pvmt. Repair Park Avenue	IV	Yes	Mill & Resu Ramps, Dra	rface, SW ainage Repairs	\$	1	\$105	05,000.00 \$105,		00.00	\$105,000.00
13. PCC Patching (Plummer Blvd/ Ptarmigan Dr)	IIA	No	PCC Patch	ing - Contract	\$	1	\$24,950.00			950.00	\$24,950.00 \$328,785.00
Add Row								-	otal operation	0031	ψ020,700.00
Add Now							Estimate of	Mainte	enance Costs Si	ımmaı	nv.
Maintenance						MFT Fun		550000000000000000000000000000000000000	ner Funds	CONTRACTOR OF THE PARTY OF THE	timated Costs
Local Public Agen	cv Labor						,125.00			\$39,125.00	
Local Public Agen							\$41,075.00		\$41,075.00		
Materials/Contract	7 4)			\$101,500.00				\$101,500.00	
Materials/Deliver 8	& Install/F	Request	for Quotat	ions (Bid Item	s)	\$42	,085.00	151		\$42,085.00	
Formal Contract (Bid Items)					\$105	,000.00				\$105,000.00	
Maintenance Total				Total		,785.00				\$328,785.00	
									nce Eng Costs		
Maintenance Engineering					MFT Fun		Oth	ner Funds	T	otal Est Costs	
Maintenance Engineering					\$17	,275.70				\$17,275.70	
Material Testing											
Advertising					\vdash						
Bridge Inspection	Engineer			F	Tatal	617	275.70				\$17,275.70
				Engineering	_		,275.70				
		Т	otal Estim	ated Mainten	ance	\$346	,060.70				\$346,060.70
Remarks											
		SUBMI	TTED	D-1-							
Local Public Ager	1 C	, L	3	5-13	5-19						
1/1/1 72 1 1					APPROVED						
Village tresident						Engineer					
County Engineer/	Superinte	endent	of Highway	s Date		Departm	ent of Trans	portati	on		Date



Maintenance Engineering to be Performed by a Consulting Engineer



Local Public Agency				County		Section Number		
Village of Chathar			Sangamon		19-00000-00-GM			
The services to be performed by the consulting engineer, pertaining to the various items of work included in the estimated cost of the maintenance operations (BLR 14221 or BLR 14231), shall consist of the following:								
PRELIMINAL Investigation maintenance municipalities body as may 12330) form.	RY ENGINEERING softhe condition of the condition of the operations to be incomed and counties), main reasonably be required.	shall include: ne streets or highwa cluded in the mainter ntenance estimate of ired; attendance at p the maintenance ex	ys for determination nance program; prep of cost and, if applical public letting; prepara	(in consultation with the aration of the mainten ble, proposal; attendal atton of the contract, q	ance re nce at r uotation	I highway authority) of the esolution (BLR 14220 for meetings of the governing ns, and/or acceptance (BLR IDOT within 3 months of		
Furnishing the deliver and in	nstall proposal and/o	nspection, including r checking material	invoices of those ma	ent estimate for contra intenance operations completed by a qualific	requirir			
charged per maintena negotiated preliminary total estimated costs of	nce period. For furning engineering fee per of that group. The new of for the times which	shing engineering in centage for each mag gotiated fee for engi	nspection, the engine aintenance group sh ineering inspection fo	er will be paid a nego own in the "Schedule or each maintenance o	tiated for some street of Fees group s	Only one base fee can be ee percentage. The " shall be applied to the shall be applied to the total to include supervision of the		
-	2	SCI	HEDULE OF FEES					
Total of all Maintenand	ce Operations: se Fee		20,000 Base Fe	e = \$1,250.00				
			PLUS	2				
Maintenance		Engineering		g Inspection				
Engineering Category	Maximum Fee %	Negotiated Fee %	Maximum Fee %	Negotiated Fee %	Оре	eration(s) to be Inspected		
1	NA	NA	NA	NA	NA			
IIA	2%	2%	1%					
IIB	3%		3%		4			
III	4%		4%					
IV	5%	5%	6%	6%				
The LPA certifies that the selection of the ENGINEER was performed in accordance with the Local Government Professional Service Selection Act 50 (ILCS 510/1-510/8) and procedures outlined in Chapter 5 of the DEPARTMENT's Bureau of Local Roads and Streets Manual. BY: Local Public Agency Signature Date Date Date								
la la	C.K.	5-15-1	<u>.</u>	m 21/2	Щ	511419		
Village President Projet Maurinz Village Engineer								
1			P.E. Sea			Date		
				ES M. MICH	0	5/14/19		
Approved: Regional Engineer, ID	OOT	Date		REGISTERED PROFESSIONAL ENGINEER OF	111111111111111111111111111111111111111	BLR 05220 (Rev. 02/08/19)		
Printed 05/06/19				antillia del		DLR 03220 (Rev. 02/08/19)		